Percentage
Exercise 10C
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(b) 75%
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Answer : v
(c)12 3
We have x% of 75 =9




Answer :

(d) 10%

Let x be the required percent.

2 _ 1
Then,x%ofr{—ﬁ
I 2y _ 1
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Hence, 10% of zis o
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(b) 2.5%

Let x % of 1 day be 36 min.

Then, (%xlx%xﬁﬂ min = 36 min

e [ 36x100Y _ [ 3x5 _ |5 _

LX= ( Sie60 ) = (m)%— (E)%_2'5%
Hence, 2.5% of 1 day is 36 min.
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Answer :

(a) 35
Let the required number be x.
Then, X + 20% of x = 42

> (z+%) — 42
> (a:+£)=42

(b) 75
Let the required nu

X.
Then,x—B%ofx=6! &
:( — &) 69 %b

= (2532;"-’) =69 [Since L.C.M. of 1 and 25 = 25]

Hence, the required number is 75
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(d) 8 kg

Let x kg be the required amount of ore.
Then, 5% of xkg=400g =04 kg [~ 1 kg =1000 g]

= (% x::) =0.4
= (0.4);100) -8

Hence, 8 kg of are is required to obtain 400 g of copper.
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Answer :

(b) Rs. 20000

Suppose that the gross value of the TV is Rs x.

Commission on the TV = 10%

Price of the TV after deducting the commission = Rs (x - 10% of x)
- 10 o) —pg (1002 10z _ o (22
- s (2 5 2) = rs (Mz.100) - s (22)

However, price of the TV after deducting the commission = Rs 18000

Then, Rs (%) =Rs 18000

x= (%;"1“) = Rs (2000 x 10) = Rs 20000
Hence, the gross value of the TV is Rs 20,000
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Answer :

(b) Rs. 16000
Let us assume that the original salary of the man is Rs x.
Increase in it = 25%
Value increased in the salary = 25% of Rs. x
- 25 _ T
=Rs (m XE) =Rs (E
Salary after increment= Rs (: + %) =Rs (%)
However, increased salary = Rs 20000

Then, Rs (%) = Rs 20000

- X=Rs (mOg“x*) = Rs 16000

Hence, the original salary of the man is Rs 16,000
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(c) 560
Suppose that the number of examinees is 100,
Number of passed examinees = 95 A

2.

Number of failed examinees = (100 <85)=.5 w

( r T y 6,} {
Total numbét of examinees if.§/6fthem,failéd = 100 £ E
Total ndmber of examinees if 28 of them failed :@ 28) = (20 x 28) = 560

.

Hence, there were 560 examinees. .§“
34 4 3 N
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(c) 700 .
Suppose that the fruit seller%lry had 100 apples.
Number of apples sold = 40

~ Number of remaining apples = (100 - 40) = 60

Initial number of apples if 60 of them are remaining = 100
Initial number of apples if 420 of them are remaining = (% ® 42{]) =700
Hence, the fruit seller originally had 700 apples with him.
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Answer:
(c) Rs. 25250

Present value of the machine = Rs 25000
Decrease in its value after 1 year = 10% of Rs 25000

- 10 -
=Rs (ﬁ ® 2500[]) = Rs 2500
Depreciated value after 1 year = Rs (25000 — 2500) = Rs 22500

Hence, the value of the machine after 1 year will be Rs 22500
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Answer :

(c) 75

Let the required number be x. Then, we have:
8% ofx=6

B _
= (ﬁ xz) =6
L. [Bx100Y
K= (T) =75
Hence, the required number is 75
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(c) 270
_ [ 60
60% of 450 = (ﬁ E 4 45{])
= (% x45{]) = (3 % 90) = 270
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Answer :

(d) Rs. 700
Let us assume that the original price of the chair is Rs x.
Reduce percentage on the chair = 6%

So, value of reduction on the chair = 6% of Rs. x

() (2)

Reduced price of the chair = Rs ( — %)

- (25) o (5)

However, present price of the chair = Rs 658
a1z _ )
Then, Rs (E) =Rs 658 i

=Rs (%) = Rs 658

R

=>sz5(%)st[14){50)=703 %

.

Hence, the original price of the chair s Rs 700 ‘z \
® ... b 4 \%“'}
Q18 PO 5 Q
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(b) 560 E 3 N 4 ,é

ioes \Q/

/’3 <
Let the total number'%t‘students be 10&
Then, number of boys = 70

=~ Number of girls = (100 - 70) =

Now, total number of studergi?there are 30 girls = 100
Total number of students if there are 240 girls = (% ® 240) =800
- Number of boys = (800 — 240) = 560

Hence, there are 560 boys in the school.
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Answer:
(c) 450

Let x be the number.
(11% of x) - (7% of x) =18

:(E—T—:)=IS

00 100
4r
= o= 18

x= (w) — (18 x 25) — 450

Hence, the required number is 450
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Answer :

(a) 60

Let x be the number.

According to question, we have:
(3% of x ) +39=x

= (% xT|+30==x

:(% 13—z
:( ~Z)_39
= (2z=) 30
:(E —39

Hence, the required number is 60
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(c) 500

Let x be the maximum marks.
Pass marks = (145 + 35) = 180
~36% of x =180

=(% X:I:)=180

:x=(M)={5xlﬂﬂ)=50[]

36
Hence, maximum marks = 500
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(d) 225
Let x be the number.

According to question, we have:
X — 40% of x =135




